
bad	linguistics	BINGO
myfreebingocards.com

Safety	First!
Before	you	print	all	your	bingo	cards,	please	print	a	test	page	to	check	they	come	out	the	right	size	and	color.
Your	bingo	cards	start	on	Page	3	of	this	PDF.

If	your	bingo	cards	have	words	then	please	check	the	spelling	carefully.

If	you	need	to	make	any	changes	go	to	mfbc.us/e/uhd8h

Play
Once	you've	checked	they	are	printing	correctly,	print	off	your	bingo	cards	and	start	playing!	On	the	next	page
you	will	find	the	"Bingo	Caller's	Card"	-	this	is	used	to	call	the	bingo	and	keep	track	of	which	words	have	been
called.	Your	bingo	cards	start	on	Page	3.

Virtual	Bingo
Please	do	not	try	to	split	this	PDF	into	individual	bingo	cards	to	send	out	to	players.	We	have	tools	on	our	site	to
send	out	links	to	individual	bingo	cards.	For	help	go	to	myfreebingocards.com/virtual-bingo.

Help
If	you're	having	trouble	printing	your	bingo	cards	or	using	the	bingo	card	generator	then	please	go	to
https://myfreebingocards.com/faq	where	you	will	find	solutions	to	most	common	problems.

Share
Pin	these	bingo	cards	on	Pinterest,	share	on	Facebook,	or	post	this	link:	mfbc.us/s/uhd8h

Edit	and	Create
To	add	more	words	or	make	changes	to	this	set	of	bingo	cards	go	to	mfbc.us/e/uhd8h

Go	to	myfreebingocards.com/bingo-card-generator	to	create	a	new	set	of	bingo	cards.

Legal
The	terms	of	use	for	these	printable	bingo	cards	can	be	found	at	myfreebingocards.com/terms.

Have	Fun!
If	you	have	any	feedback	or	suggestions,	drop	us	an	email	on	hello@myfreebingocards.com.

https://myfreebingocards.com/
https://mfbc.us/e/uhd8h
https://myfreebingocards.com/virtual-bingo
https://myfreebingocards.com/faq
https://pinterest.com/pin/create/bookmarklet/?media=https%3A%2F%2Fmyfreebingocards.com%2Fp%2Fuhd8h%2Fpin&url=https%3A%2F%2Fmfbc.us%2Fs%2Fuhd8h&description=bad+linguistics+BINGO
https://www.facebook.com/sharer/sharer.php?u=https%3A%2F%2Fmfbc.us%2Fs%2Fuhd8h
https://mfbc.us/s/uhd8h
https://mfbc.us/e/uhd8h
https://myfreebingocards.com/bingo-card-generator
https://myfreebingocards.com/terms


Bingo	Caller's	Card
Use	your	Bingo	Caller's	Card	to	call	the	bingo	and	keep	track	of	which	words	you	have	already	called.

Print	two	copies	of	the	caller's	card.	Cut	one	copy	up,	fold	the	squares	in	half,	and	put	them	in	a	hat.	To	call	the
bingo,	pull	a	square	out	of	the	hat,	unfold	it	and	read	it	out.

When	you	have	called	a	word/number,	tick	it	off	on	the	second	copy	of	the	caller's	card.	You	can	use	the	second
copy	of	the	caller's	card	to	check	if	a	player	has	a	winning	card	during	a	game.

parrots	
and	

dolphins
"african	
dialects"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

slang	
ruins	

language	
purity

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

writing	=	
speaking prescriptivism

language	X	
is	the	most	
difficult	
language

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

linguists	=	
grammar	
nazis

"flexible/efficient	
language"	=	

flexible/efficient	
people

the	presence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

"Chinese"

etymological	
fallacy

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

dialects	=	
"impure	

version"	of	
languages

WHAT	A	
WACKY	

PHONEME!
folk	

etymology
bad	
IPA

the	absence	
of	(concept)	
makes	a	
language	
"rational"

linguists	
=	

polyglots



Bingo	Card	ID	001

bad	linguistics	BINGO

parrots	
and	

dolphins
"Chinese"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

folk	
etymology

language	X	
is	the	most	
difficult	
language

prescriptivism
linguists	=	
grammar	
nazis

"flexible/efficient	
language"	=	

flexible/efficient	
people

slang	
ruins	

language	
purity

the	presence	
of	(concept)	
makes	a	
language	
"rational"

FREE	
SPACE

WHAT	A	
WACKY	

PHONEME!

writing	=	
speaking

dialects	=	
"impure	

version"	of	
languages

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

etymological	
fallacy

bad	
IPA

"african	
dialects"

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

linguists	
=	

polyglots

the	absence	
of	(concept)	
makes	a	
language	
"rational"

Bingo	Card	ID	002

bad	linguistics	BINGO

prescriptivism
linguists	=	
grammar	
nazis

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

parrots	
and	

dolphins

dialects	=	
"impure	

version"	of	
languages

folk	
etymology

WHAT	A	
WACKY	

PHONEME!

linguists	
=	

polyglots

slang	
ruins	

language	
purity

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

writing	=	
speaking

etymological	
fallacy

FREE	
SPACE

"african	
dialects"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

"flexible/efficient	
language"	=	

flexible/efficient	
people

"Chinese"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

bad	
IPA

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

language	X	
is	the	most	
difficult	
language

the	absence	
of	(concept)	
makes	a	
language	
"rational"



Bingo	Card	ID	003

bad	linguistics	BINGO

linguists	
=	

polyglots

language	X	
is	the	most	
difficult	
language

prescriptivism etymological	
fallacy

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

the	absence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

WHAT	A	
WACKY	

PHONEME!

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

the	presence	
of	(concept)	
makes	a	
language	
"rational"

"Chinese"
parrots	
and	

dolphins

FREE	
SPACE

bad	
IPA

linguists	=	
grammar	
nazis

dialects	=	
"impure	

version"	of	
languages

slang	
ruins	

language	
purity

writing	=	
speaking

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

folk	
etymology

"flexible/efficient	
language"	=	

flexible/efficient	
people

"african	
dialects"

Bingo	Card	ID	004

bad	linguistics	BINGO

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

slang	
ruins	

language	
purity

"flexible/efficient	
language"	=	

flexible/efficient	
people

language	X	has	
no	Y	therefore	
language	X	
speakers	
cannot	

comprehend	Y

language	X	
is	the	most	
difficult	
language

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

writing	=	
speaking

linguists	
=	

polyglots

WHAT	A	
WACKY	

PHONEME!

parrots	
and	

dolphins

FREE	
SPACE prescriptivism

"african	
dialects"

etymological	
fallacy

dialects	=	
"impure	

version"	of	
languages

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

the	absence	
of	(concept)	
makes	a	
language	
"rational"

folk	
etymology

linguists	=	
grammar	
nazis

"Chinese"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

bad	
IPA



Bingo	Card	ID	005

bad	linguistics	BINGO

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"flexible/efficient	
language"	=	

flexible/efficient	
people

the	presence	
of	(concept)	
makes	a	
language	
"rational"

WHAT	A	
WACKY	

PHONEME!

prescriptivism

dialects	=	
"impure	

version"	of	
languages

linguists	=	
grammar	
nazis

the	absence	
of	(concept)	
makes	a	
language	
"rational"

"Chinese" writing	=	
speaking

FREE	
SPACE

folk	
etymology

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

"african	
dialects"

etymological	
fallacy

language	X	
is	the	most	
difficult	
language

parrots	
and	

dolphins

bad	
IPA

slang	
ruins	

language	
purity

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

linguists	
=	

polyglots

language	X	has	
no	Y	therefore	
language	X	
speakers	
cannot	

comprehend	Y

Bingo	Card	ID	006

bad	linguistics	BINGO

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"Chinese"
parrots	
and	

dolphins
"african	
dialects"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

WHAT	A	
WACKY	

PHONEME!

linguists	=	
grammar	
nazis

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

prescriptivism

language	X	
is	the	most	
difficult	
language

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

FREE	
SPACE

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

linguists	
=	

polyglots

dialects	=	
"impure	

version"	of	
languages

slang	
ruins	

language	
purity

the	presence	
of	(concept)	
makes	a	
language	
"rational"

writing	=	
speaking

folk	
etymology

etymological	
fallacy

"flexible/efficient	
language"	=	

flexible/efficient	
people

the	absence	
of	(concept)	
makes	a	
language	
"rational"

bad	
IPA



Bingo	Card	ID	007

bad	linguistics	BINGO

writing	=	
speaking

"african	
dialects"

slang	
ruins	

language	
purity

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

prescriptivism

bad	
IPA

linguists	=	
grammar	
nazis

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

language	X	
is	the	most	
difficult	
language

WHAT	A	
WACKY	

PHONEME!

linguists	
=	

polyglots
FREE	
SPACE

folk	
etymology

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

etymological	
fallacy

the	presence	
of	(concept)	
makes	a	
language	
"rational"

dialects	=	
"impure	

version"	of	
languages

parrots	
and	

dolphins

"flexible/efficient	
language"	=	

flexible/efficient	
people

"Chinese"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

Bingo	Card	ID	008

bad	linguistics	BINGO

writing	=	
speaking

parrots	
and	

dolphins

dialects	=	
"impure	

version"	of	
languages

folk	
etymology

"african	
dialects"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"flexible/efficient	
language"	=	

flexible/efficient	
people

prescriptivism
linguists	

=	
polyglots

FREE	
SPACE

language	X	
is	the	most	
difficult	
language

WHAT	A	
WACKY	

PHONEME!

"Chinese"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

linguists	=	
grammar	
nazis

etymological	
fallacy

bad	
IPA

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

slang	
ruins	

language	
purity



Bingo	Card	ID	009

bad	linguistics	BINGO

dialects	=	
"impure	

version"	of	
languages

etymological	
fallacy

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

slang	
ruins	

language	
purity

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"flexible/efficient	
language"	=	

flexible/efficient	
people

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

parrots	
and	

dolphins

linguists	
=	

polyglots

language	X	
is	the	most	
difficult	
language

FREE	
SPACE

writing	=	
speaking

WHAT	A	
WACKY	

PHONEME!

linguists	=	
grammar	
nazis

bad	
IPA

the	absence	
of	(concept)	
makes	a	
language	
"rational"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

"african	
dialects"

folk	
etymology prescriptivism "Chinese"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

Bingo	Card	ID	010

bad	linguistics	BINGO

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

the	presence	
of	(concept)	
makes	a	
language	
"rational"

slang	
ruins	

language	
purity

"Chinese" "african	
dialects"

linguists	=	
grammar	
nazis

bad	
IPA

WHAT	A	
WACKY	

PHONEME!

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

prescriptivism
FREE	
SPACE

etymological	
fallacy

parrots	
and	

dolphins

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

writing	=	
speaking

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

the	absence	
of	(concept)	
makes	a	
language	
"rational"

"flexible/efficient	
language"	=	

flexible/efficient	
people

linguists	
=	

polyglots
folk	

etymology

dialects	=	
"impure	

version"	of	
languages

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	X	
is	the	most	
difficult	
language



Bingo	Card	ID	011

bad	linguistics	BINGO

"Chinese"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

parrots	
and	

dolphins

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	X	
is	the	most	
difficult	
language

dialects	=	
"impure	

version"	of	
languages

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

prescriptivism
bad	
IPA

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

FREE	
SPACE

writing	=	
speaking

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

linguists	=	
grammar	
nazis

linguists	
=	

polyglots

slang	
ruins	

language	
purity

"african	
dialects"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

WHAT	A	
WACKY	

PHONEME!

"flexible/efficient	
language"	=	

flexible/efficient	
people

folk	
etymology

etymological	
fallacy

Bingo	Card	ID	012

bad	linguistics	BINGO

language	X	
is	the	most	
difficult	
language

bad	
IPA

linguists	=	
grammar	
nazis

"Chinese"
WHAT	A	
WACKY	

PHONEME!

etymological	
fallacy

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

folk	
etymology

the	absence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

prescriptivism
FREE	
SPACE

writing	=	
speaking

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

parrots	
and	

dolphins

the	presence	
of	(concept)	
makes	a	
language	
"rational"

dialects	=	
"impure	

version"	of	
languages

"african	
dialects"

linguists	
=	

polyglots

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

"flexible/efficient	
language"	=	

flexible/efficient	
people

slang	
ruins	

language	
purity



Bingo	Card	ID	013

bad	linguistics	BINGO

prescriptivism

dialects	=	
"impure	

version"	of	
languages

"flexible/efficient	
language"	=	

flexible/efficient	
people

etymological	
fallacy

language	X	has	
no	Y	therefore	
language	X	
speakers	
cannot	

comprehend	Y

"african	
dialects"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

writing	=	
speaking

language	X	
is	the	most	
difficult	
language

slang	
ruins	

language	
purity

parrots	
and	

dolphins

linguists	=	
grammar	
nazis

FREE	
SPACE

WHAT	A	
WACKY	

PHONEME!

bad	
IPA

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

folk	
etymology "Chinese"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

the	absence	
of	(concept)	
makes	a	
language	
"rational"

linguists	
=	

polyglots

Bingo	Card	ID	014

bad	linguistics	BINGO

etymological	
fallacy

"flexible/efficient	
language"	=	

flexible/efficient	
people

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

"african	
dialects"

prescriptivism
linguists	

=	
polyglots

folk	
etymology

language	X	
is	the	most	
difficult	
language

WHAT	A	
WACKY	

PHONEME!

the	absence	
of	(concept)	
makes	a	
language	
"rational"

FREE	
SPACE

linguists	=	
grammar	
nazis

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

the	presence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

slang	
ruins	

language	
purity

parrots	
and	

dolphins
writing	=	
speaking

dialects	=	
"impure	

version"	of	
languages

bad	
IPA "Chinese"



Bingo	Card	ID	015

bad	linguistics	BINGO

bad	
IPA

dialects	=	
"impure	

version"	of	
languages

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

linguists	=	
grammar	
nazis

"Chinese"

linguists	
=	

polyglots

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	X	
is	the	most	
difficult	
language

"flexible/efficient	
language"	=	

flexible/efficient	
people

FREE	
SPACE

slang	
ruins	

language	
purity

prescriptivism

folk	
etymology

parrots	
and	

dolphins
writing	=	
speaking

WHAT	A	
WACKY	

PHONEME!

the	absence	
of	(concept)	
makes	a	
language	
"rational"

"african	
dialects"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

etymological	
fallacy

Bingo	Card	ID	016

bad	linguistics	BINGO

language	X	
is	the	most	
difficult	
language

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

writing	=	
speaking

WHAT	A	
WACKY	

PHONEME!

the	presence	
of	(concept)	
makes	a	
language	
"rational"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

prescriptivism

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

linguists	
=	

polyglots

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

FREE	
SPACE

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

etymological	
fallacy

linguists	=	
grammar	
nazis

parrots	
and	

dolphins
folk	

etymology

dialects	=	
"impure	

version"	of	
languages

slang	
ruins	

language	
purity

"flexible/efficient	
language"	=	

flexible/efficient	
people

bad	
IPA "Chinese"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

"african	
dialects"



Bingo	Card	ID	017

bad	linguistics	BINGO

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

language	X	
is	the	most	
difficult	
language

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

writing	=	
speaking

"flexible/efficient	
language"	=	

flexible/efficient	
people

slang	
ruins	

language	
purity

"Chinese"
bad	
IPA

etymological	
fallacy

dialects	=	
"impure	

version"	of	
languages

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

FREE	
SPACE

folk	
etymology

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

linguists	=	
grammar	
nazis

"african	
dialects"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

linguists	
=	

polyglots

parrots	
and	

dolphins

the	presence	
of	(concept)	
makes	a	
language	
"rational"

prescriptivism
WHAT	A	
WACKY	

PHONEME!

Bingo	Card	ID	018

bad	linguistics	BINGO

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

"Chinese"
"flexible/efficient	

language"	=	
flexible/efficient	

people
prescriptivism

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

parrots	
and	

dolphins

language	X	
is	the	most	
difficult	
language

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

linguists	
=	

polyglots

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

FREE	
SPACE

folk	
etymology

etymological	
fallacy

dialects	=	
"impure	

version"	of	
languages

slang	
ruins	

language	
purity

WHAT	A	
WACKY	

PHONEME!

bad	
IPA

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

"african	
dialects"

linguists	=	
grammar	
nazis

the	absence	
of	(concept)	
makes	a	
language	
"rational"

writing	=	
speaking



Bingo	Card	ID	019

bad	linguistics	BINGO

WHAT	A	
WACKY	

PHONEME!
folk	

etymology
etymological	

fallacy
"african	
dialects"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

dialects	=	
"impure	

version"	of	
languages

"flexible/efficient	
language"	=	

flexible/efficient	
people

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

linguists	
=	

polyglots

parrots	
and	

dolphins
writing	=	
speaking

FREE	
SPACE

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

slang	
ruins	

language	
purity

linguists	=	
grammar	
nazis

bad	
IPA

prescriptivism

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

the	absence	
of	(concept)	
makes	a	
language	
"rational"

language	X	
is	the	most	
difficult	
language

the	presence	
of	(concept)	
makes	a	
language	
"rational"

"Chinese"

Bingo	Card	ID	020

bad	linguistics	BINGO

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

slang	
ruins	

language	
purity

WHAT	A	
WACKY	

PHONEME!

language	X	
is	the	most	
difficult	
language

linguists	=	
grammar	
nazis

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

bad	
IPA

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"Chinese"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

folk	
etymology

FREE	
SPACE

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

dialects	=	
"impure	

version"	of	
languages

prescriptivism
"african	
dialects"

the	presence	
of	(concept)	
makes	a	
language	
"rational"

writing	=	
speaking

linguists	
=	

polyglots

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

"flexible/efficient	
language"	=	

flexible/efficient	
people

etymological	
fallacy

parrots	
and	

dolphins



Bingo	Card	ID	021

bad	linguistics	BINGO

slang	
ruins	

language	
purity

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

bad	
IPA

language	X	
is	the	most	
difficult	
language

parrots	
and	

dolphins

linguists	
=	

polyglots

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

the	presence	
of	(concept)	
makes	a	
language	
"rational"

"flexible/efficient	
language"	=	

flexible/efficient	
people

"african	
dialects"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

FREE	
SPACE

writing	=	
speaking

etymological	
fallacy

linguists	=	
grammar	
nazis

prescriptivism

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

WHAT	A	
WACKY	

PHONEME!
"Chinese" folk	

etymology

the	absence	
of	(concept)	
makes	a	
language	
"rational"

dialects	=	
"impure	

version"	of	
languages

Bingo	Card	ID	022

bad	linguistics	BINGO

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

"flexible/efficient	
language"	=	

flexible/efficient	
people

etymological	
fallacy

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

linguists	=	
grammar	
nazis

"Chinese" prescriptivism

writing	=	
speaking

dialects	=	
"impure	

version"	of	
languages

FREE	
SPACE

folk	
etymology

parrots	
and	

dolphins

the	absence	
of	(concept)	
makes	a	
language	
"rational"

"african	
dialects"

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

slang	
ruins	

language	
purity

bad	
IPA

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

the	presence	
of	(concept)	
makes	a	
language	
"rational"

linguists	
=	

polyglots

language	X	
is	the	most	
difficult	
language

WHAT	A	
WACKY	

PHONEME!



Bingo	Card	ID	023

bad	linguistics	BINGO

folk	
etymology

etymological	
fallacy

"african	
dialects"

linguists	=	
grammar	
nazis

slang	
ruins	

language	
purity

linguists	
=	

polyglots
writing	=	
speaking

dialects	=	
"impure	

version"	of	
languages

prescriptivism

the	presence	
of	(concept)	
makes	a	
language	
"rational"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

FREE	
SPACE

bad	
IPA

WHAT	A	
WACKY	

PHONEME!

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

the	absence	
of	(concept)	
makes	a	
language	
"rational"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	
is	the	most	
difficult	
language

"flexible/efficient	
language"	=	

flexible/efficient	
people

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

parrots	
and	

dolphins
"Chinese"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

Bingo	Card	ID	024

bad	linguistics	BINGO

WHAT	A	
WACKY	

PHONEME!

the	absence	
of	(concept)	
makes	a	
language	
"rational"

linguists	
=	

polyglots
"Chinese"

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

folk	
etymology

language	X	
is	the	most	
difficult	
language

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

the	presence	
of	(concept)	
makes	a	
language	
"rational"

"flexible/efficient	
language"	=	

flexible/efficient	
people

bad	
IPA

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

FREE	
SPACE

dialects	=	
"impure	

version"	of	
languages

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

linguists	=	
grammar	
nazis

"african	
dialects"

etymological	
fallacy

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

parrots	
and	

dolphins

slang	
ruins	

language	
purity

prescriptivism
writing	=	
speaking



Bingo	Card	ID	025

bad	linguistics	BINGO

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

linguists	
=	

polyglots

the	presence	
of	(concept)	
makes	a	
language	
"rational"

"flexible/efficient	
language"	=	

flexible/efficient	
people

"african	
dialects"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

dialects	=	
"impure	

version"	of	
languages

etymological	
fallacy

writing	=	
speaking

folk	
etymology

language	X	
is	the	most	
difficult	
language

FREE	
SPACE "Chinese"

slang	
ruins	

language	
purity

prescriptivism

the	absence	
of	(concept)	
makes	a	
language	
"rational"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

parrots	
and	

dolphins

bad	
IPA

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

WHAT	A	
WACKY	

PHONEME!

linguists	=	
grammar	
nazis

Bingo	Card	ID	026

bad	linguistics	BINGO

bad	
IPA

etymological	
fallacy prescriptivism

WHAT	A	
WACKY	

PHONEME!

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

writing	=	
speaking

slang	
ruins	

language	
purity

folk	
etymology

"flexible/efficient	
language"	=	

flexible/efficient	
people

linguists	=	
grammar	
nazis

FREE	
SPACE

"african	
dialects"

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

linguists	
=	

polyglots

the	absence	
of	(concept)	
makes	a	
language	
"rational"

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

language	X	
is	the	most	
difficult	
language

parrots	
and	

dolphins

dialects	=	
"impure	

version"	of	
languages

"Chinese"

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

the	presence	
of	(concept)	
makes	a	
language	
"rational"



Bingo	Card	ID	027

bad	linguistics	BINGO

writing	=	
speaking

bad	
IPA

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

the	presence	
of	(concept)	
makes	a	
language	
"rational"

slang	
ruins	

language	
purity

"flexible/efficient	
language"	=	

flexible/efficient	
people

the	absence	
of	(concept)	
makes	a	
language	
"rational"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

linguists	
=	

polyglots
FREE	
SPACE

"african	
dialects"

dialects	=	
"impure	

version"	of	
languages

parrots	
and	

dolphins

language	X	
is	the	most	
difficult	
language

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

etymological	
fallacy

folk	
etymology

"Chinese"
linguists	=	
grammar	
nazis

prescriptivism
WHAT	A	
WACKY	

PHONEME!

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

Bingo	Card	ID	028

bad	linguistics	BINGO

writing	=	
speaking

folk	
etymology

parrots	
and	

dolphins

WHAT	A	
WACKY	

PHONEME!

linguists	=	
grammar	
nazis

the	presence	
of	(concept)	
makes	a	
language	
"rational"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

slang	
ruins	

language	
purity

linguists	
=	

polyglots

language	X	
is	the	most	
difficult	
language

prescriptivism
FREE	
SPACE

"african	
dialects"

etymological	
fallacy

dialects	=	
"impure	

version"	of	
languages

"flexible/efficient	
language"	=	

flexible/efficient	
people

"Chinese"
language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

bad	
IPA

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS



Bingo	Card	ID	029

bad	linguistics	BINGO

folk	
etymology "Chinese"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

"flexible/efficient	
language"	=	

flexible/efficient	
people

bad	
IPA

"african	
dialects"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

language	X	has	
no	Y	therefore	
language	X	
speakers	
cannot	

comprehend	Y

dialects	=	
"impure	

version"	of	
languages

language	X	
is	the	most	
difficult	
language

FREE	
SPACE

the	presence	
of	(concept)	
makes	a	
language	
"rational"

linguists	
=	

polyglots

WHAT	A	
WACKY	

PHONEME!
prescriptivism

slang	
ruins	

language	
purity

writing	=	
speaking

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

linguists	=	
grammar	
nazis

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

parrots	
and	

dolphins
etymological	

fallacy

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

Bingo	Card	ID	030

bad	linguistics	BINGO

languages	X	and	
Y	are	related	
because	of	
superficial	

commonality	Z

bad	
IPA

WHAT	A	
WACKY	

PHONEME!

the	presence	
of	(concept)	
makes	a	
language	
"rational"

slang	
ruins	

language	
purity

(word)	has	no	
translation	in	
English	but	it	

means	
(English	

translation)

language	X	
is	the	most	
difficult	
language

writing	=	
speaking

folk	
etymology

parrots	
and	

dolphins

language	X	has	
no	Y	therefore	
language	X	

speakers	cannot	
comprehend	Y

FREE	
SPACE

language	X	has	a	
different	root	for	
(word)	than	other	
languages?	WHAT	

WACKINESS

"flexible/efficient	
language"	=	

flexible/efficient	
people

"Chinese"

language	A	+	
language	B	=	
language	C	
therefore	

language	X	isn't	
a	language

prescriptivism
linguists	

=	
polyglots

etymological	
fallacy

"african	
dialects"

the	absence	
of	(concept)	
makes	a	
language	
"rational"

linguists	=	
grammar	
nazis

dialects	=	
"impure	

version"	of	
languages


